
Lesson 9  023  │ 

9 - There are too many multiple choice tests. 

表Aを見て、1a－5bの太字の単語がそれぞれ数えられる名詞  (countable)、または

数えられない名詞  (uncountable)  のどちらに該当するのかを確認しましょう。そ

れらを増やしたいと思いますか？それとも減らすべきだと思いますか？（例：Do 
you want more  pollution or less pollution?）考えながら表Bに当てはめていきま

しょう。 

1. 

1a - teachers 1b - money  
(to pay the teachers’ salaries) 

2a - creative thinking (in schools) 2b - multiple choice tests 

3a - competition (to get into college) 3b - public universities 

4a - focus (to study) 4b - distractions 

5a - neglected children 5b - busy parents 

A

 Want more? Want fewer? 

 

 

Want more? Want less? 

 There aren’t 

enough... 

There are  

too many... 

There isn’t 

enough... 

There is 

too much... 

1a.     

1b.     

2a.     

2b.     

3a.     

3b.     

4a.     

4b.     

5a.     

5b.     

 
Countable  
（（（（数数数数えられるえられるえられるえられる））））    

Uncountable    
（（（（数数数数えられないえられないえられないえられない））））        

B
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A, B, C の答え方をもとに 1 - 5 の質問に答えましょう。 
 
A: Because there isn’t/aren’t enough... 

B: Because there is too much... 

C: Because there are too many... 

2a. 

1. Why are there not enough teachers? 
      Because __________________________________________________ 
 
2. Why is there not enough creative thinking in schools? 
      __________________________________________________________ 
 
3. Why is there so much competition to get into college? 
      __________________________________________________________ 
 
4. Why is there not enough focus to study? 
      __________________________________________________________ 
 
5. Why are there so many neglected children? 
      __________________________________________________________ 

上の  A,B,Cのパターンを用いて、文を完成させましょう。10  の文では‘too 
many’ではなく、‘so many’を使います。  
 
6.   There isn’t enough money to pay teachers’ salaries, so ______________ 
      _________________________________________________________ 
 
7.   There are too many multiple choice tests, so ______________________ 
      _________________________________________________________ 
 
8.   There aren’t enough public universities, so _______________________ 
      _________________________________________________________ 
 
9.   There are too many distractions, so _____________________________ 
      _________________________________________________________ 
 
10. There are too many busy parents, so ____________________________ 
      _________________________________________________________ 

2b. 



isn’t（（（（形容詞形容詞形容詞形容詞））））enough または、is too（（（（形容詞形容詞形容詞形容詞))))、 wish, If... / would を使っ

て、例文1のような文章を作ってみましょう。  

3. 

(－) = isn’t / (+) = is  He/She wishes... 

 

If / would  

If / could 

Ron’s life is  
too boring.  

He wishes it were more exciting. 

If his life were more exciting,   
he would have more fun. 

1. 

   tall         fast 
 

 high      clean      strong 
 

interesting    good 
   

  big  

  expensive 
 

far    heavy    boring    
 

messy      tiring 
 

 shy 

It’s not _________enough. 
She’s not _______ enough. 

It’s too ______________. 
He’s too ____________. 

This is Luke.   

He (+) ~ shy. 

If... / he... 
have more friends. 

2. 

His parents  w~  h~   
w~  more outgoing. 

______________________________
______________________________ 
 
______________________________
______________________________ 
 
______________________________
______________________________ 

Luke is 
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This is my desk.   
It (+) ~ messy.  

I  w~  i~  w~ 
more organized. 

If... / I...  

work better. 

___________________________
___________________________
___________________________ 
___________________________
___________________________
___________________________ 
___________________________
___________________________
___________________________ 

My desk 

This is Yuri’s  
boyfriend’s car.  

It (+) ~ big.  

Yuri  w~  i~  w~  smaller. 

If it... / she... get in more easily. 

5

College tuition 
(+) ~ expensive. 

If it... / students... not  
have so much debt.  

I  w~  i~  w~  cheaper. 

______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________

_____________________________
_____________________________ 
_____________________________ 
_____________________________
_____________________________ 
_____________________________ 
_____________________________
_____________________________
_____________________________ 

3. 

4. 

This is our house.  It   
(-) big ~ for our family. 

We  w~  
i~  w~  a little bigger. 

If... / we... 
be more comfortable. 

___________________________
___________________________
___________________________ 
___________________________
___________________________
___________________________ 
___________________________
___________________________
___________________________ 

6. 
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